
Wolken {l, d}

Temp {n, h} Regen {F, T}

Rasen {nass, tr}

P (Wolken) =
(W = lll W = ddd

0.4 0.6
)

P (Temp |Wolken) =

(Wolken T = nnn T = hhh

lll 0.2 0.8
ddd 0.5 0.5

)

P (Regen |Wolken) =

(Wolken R = TTT R = FFF

lll 0.3 0.7
ddd 0.8 0.2

)

P (Rasen | Temp,Regen) =


Temp Regen R = nnn R = trtrtr

nnn FFF 0.1 0.9
nnn TTT 0.7 0.3
hhh FFF 0 1
hhh TTT 0.8 0.2



1



P (Wolken |Regen = F,Rasen = nass)P (Wolken |Regen = F,Rasen = nass)P (Wolken |Regen = F,Rasen = nass)∑
Temp

[P (Temp,Regen,Rasen · P (Temp,Wolken) · P (Regen,Wolken) · P (Wolken)]Regen=F,Rasen=nass

= P (Wolken) ·
∑
Temp

[P (Temp,Regen,Rasen · P (Temp,Wolken) · P (Regen,Wolken)]Regen=F,Rasen=nass

= P (Wolken) ·
∑
Temp





Temp Regen Rasen P

n F nass 0.1
n F tr 0.9
n T nass 0.7
n T tr 0.3
h F nass 0
h F tr 1
h T nass 0.8
h T tr 0.2


· P (Temp,Wolken) · P (Regen,Wolken)


Regen=F,Rasen=nass

= P (Wolken) ·
∑
Temp




Temp Regen P

n F 0.1
n T 0.7
h F 0
h T 0.8

 · P (Temp,Wolken) ·


Regen Wolken P

F l 0.7
F d 0.2
T l 0.3
T d 0.8



Regen=F

= P (Wolken) ·
∑
Temp

 (
Temp P

n 0.1
h 0

)
· P (Temp,Wolken) ·

(Wolken P

l 0.7
d 0.2

)

= P (Wolken) ·
∑
Temp




Temp Wolken P

n l 0.1 · 0.2 · 0.7
n d 0.1 · 0.5 · 0.2
h l 0 · 0.8 · 0.7
h d 0 · 0.5 · 0.2



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=

(Wolken P

l 0.4
d 0.6

)
·
(Wolken P

l 0.1 · 0.2 · 0.7 + 0 · 0.8 · 0.7
d 0.1 · 0.5 · 0.2 + 0 · 0.5 · 0.2

)

=

(Wolken P

l 0.4 · (0.1 · 0.2 · 0.7 + 0 · 0.8 · 0.7)
d 0.6 · (0.1 · 0.5 · 0.2 + 0 · 0.5 · 0.2)

)

=

(Wolken P

l 0.0056
d 0.006

)

normalisiert−−−−−−−−→
(Wolken P

l ≈ 0.52
d ≈ 0.48

)
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